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1. A builder borrows 22550. He has to return the

sum in two equal annual installments in two

years at compound interest rate of 4% per
annum.

Find the amount of each installment?

T& Add fAaafar & z 2550 3¢ 3, &t 3& 4%
aiffes Tchgfes AT &I 42 U2 31 96l A 3l Ferae &l
aﬁaﬁiaﬁﬁa@mﬂlmﬁseaﬁmﬁe

&1 gft 2

(B) 21377

(c)z1275 (D) 21283
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2. Kamal borrows Z 6800 which has to be paid in

2 equal annual instaliments including interest.

If rate is 12% % per annum, then what is the

amount of each installment?

HAS A 2 6800 IR & T4 A BT, Aata1 a1 Afga
& FaTe arffes fbeal & apTaTel faar wirer 21 af?
arﬁaimaaiu‘lﬁamiﬁazu% % g, dl Ud®

fsea &t oife 2ft -
(A) Z 8100 (B) Z 4150

C) 24050 (D) 24000




). = L MATHEMATICS

|l o

By Pradeep Sir

3. A sum of 210 is borrowed which has to be
o o x %) paid in 2 equal installments. If compound

loo ) oo 19 interest is charged at 10% per annum, then

3 Qo @) find the amount of each instalilment?

210 &Ud &t zifel & gz &t 91, AR < FerEe
feal & 3re1 Heen 21 Al s 6t sEref 10%

iﬁ*"\‘ AfE THgle o Ht 2 w2 & 7, @ TAS
faaa &t zifel geft 2

(A) 2127

(c)z210
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4. A man takes a loan 0f221,000 at
compound interest rate of 10% per annum.
How much amount of installment he has
to pay at the end of every year so that he
can pay loan in 2 years?

TH 31t 10% Thdfe A6 6l 2 U2 21,000
SUA BT HUT Sdl 2l &2 a¥ & 3id A 38 Ferae

fdastt fasea a<ft usoft fb &t aul & o1 &1
PAETAARA?

(A) 212000 B) 212100

(c) 212200 D) 212300
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88 A0 g OxYyy, L1 Xl 5. Govind borrows Z 2522 and pays at compound
' interest rate of 5% per annum. If he pay total

& Yoo Yoaxal Ly, AU amount in three equal annual instaliments, then
find the amount of each annual instaliment?

B00° geen (61 IMfAe 2 2,522 38 Sl & A 5% Afdles ot B 22 A
‘ Uhgfe ST PTalel deal 2l afe ag @t aifd &1

R—

S QA6
= 36| 3TdTal diel erae arfdes fdhedt A &2, dt vds arfde

fdea &t afet Far 22
2R Gser () 2927

‘Q%\.{x
0 B) 2 927.10

D) 2930
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6. A certain sum borrowed at the rate of 5% per
annum compound interest and paid back in

two equal instalilments each 882. What was

the sum borrowed?

3eme ot o1 B el 5% Ufdad & Thqfes AT &
a1 2 882 Fit 3 FeraR Aiffes fhedl A Ster &t Il

3m§ﬂ1fz@ﬁmaﬂaﬂ?
(A) 21600
(B) 21680

(D) 21700
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7. A man buys a scooter by making a down

£50 & 5x6 6% Q6 payment of 16224 and promises to pay two more
(25 635 € 1€ yearly instaliments of equal amount in next two
|2+ 5 (A 4 years. If the rate of interest is 4% per annum
P e compound yearly, then find the cash value of the

r scooter?
'6°“\'xlo‘l}'5}|czz. TS Afth 2 16224 & 191 Tl dAT 3t 3 et €l
G T | ot 6t aftes fised 31 @ awl # 29 & a2 &

A1 UH THee Wdtedl 81 AR = Hit A 22 4%
wafd s e &9 & Faifoa 2, a’szaaﬂama

ajvmlaqmﬁmmz’m ?
A) 240000 (B) 246000

()2 50000
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8. A man bought a car and paid 12000 as down
payment. He told the seller that he would pay 13050

after 1 year and 22680 after two years at 12% %

compound interest per annum. What is the value of
car on cash payment?

S fth A 12000 & 33 3PTdTel U2 U HIe TNt 3l

Rmaﬁymﬂaaﬁq@mﬁaamaﬁ

d1E 2 13050 312 31 a¥ a1E 22680 & 3PTdTel B ATeT Hedl
21 B B Ahe o JATd B ?

(a)zs1000

(B) 2 42575

(D) 2 45345
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= a 2y
lio |on) 1 9. Raju borrowed a sum of 42,000 at 10% p.a. compound
IQI0 104Q) )3 | interest and initially planned to repay it in two equal
oo  |oo Q2] instaliments (the installment being paid at the end of
d lo Q) Mooloox)) 1y each year). He actually repaid it in three equal
installments. What is the difference between each
7 Jl°°°'°°° 133! installment initially planned and each instaliment
Y Q000 320 133/ actually paid (round off to the nearest rupee)?

20 I 215 42,000, 10% THI(R AT Hi 32 A 2 Fael fdseal A 3ame
L ] 1 &et & divten gt 81 9 a1e A 37 Afel B et Haer afdes
- - ,M fseal & 3eme a1 ¢, A FaTN UES H udS fasea i 2ifel 3ite

EXTRaER &1 vedtes fasea B 21fd) 3 iz e 2 2

\ lo C1 > .
: (A) 26,226 (B) 27,31

(c) 29,331 (D) 24,993
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i~ Ve— 1. A loan is to be returned in two equal yearly
e instalments. If the rate of interest is 10% p.a.,
compounded annually and each instalment is
ige %-'— 5,808, then the total interest charged in this
\'Xo? schemeis:
Qe fseft o1 @t 3 Howrer anfdfes fseal & Serean 21 af2
=T $t 22 ufd af 10% 2, 7t aifffes =0 & awgfa Adt
he 3 Uds fbed 2 5,808 2, dl 3& Aloten A 31 I F&
SLIGISIGEIGEY
I fé‘({‘ ;IR m (B) 21,632

(c) 21,602

(D) 21,563
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13. A sum at compound interest rate of 5% per
annum can be paid in two annual instalilments of
17,640 each. Find the sum borrowed?

$B teraifel affes amgfe o &t 22 & 5% THgfe
&1 e Wfd 17,640 S0 $t 3 arfifes fhedl A g1d

ATt 1 382 St ard afe) fabaht oft 2

Weaaen |-

B) 232,400
(c) 232,000
(D) 232,200




